
計算脳トレテスト① 

 

(１) １＋３ 

 

(２) ７＋２ 

 

(３) ６＋８ 

 

(４) ５－３ 

 

(５) ８－２ 

 

(６) １４－９ 

 

 

名 前             

 

(７) ４６＋５７ 

 

(８) ７６＋５８ 

 

(９) １９６＋７３９ 

 

(10) ４５－１８ 

 

(11) ４０－１６ 

 

(12) ４０８－２７９ 

 

 



計算脳トレテスト② 

※わりきれないわり算は、あまりを出すこと 

(13) ６×９ 

 

(14) ４×８ 

 

(15) ２×１０ 

 

(16) ４÷２ 

 

(17) １２÷３ 

 

(18) ９０÷１０ 

 

 

名 前             

 

(19) ４９×４ 

 

(20) １４７×６ 

 

(21) ５６×３８ 

 

(22) ８４÷６ 

 

(23) ７０÷９ 

 

(24) ９１２÷３ 

 

 



計算脳トレテスト③ 

 

(25) １－(－７) 

 

(26) ４－(－８) 

 

(27) ７＋(－４) 

 

(28) －９＋(－６) 

 

(29)  (－７)×２ 

 

(30)  (－６)×(－８) 

 

 

名 前             

 

(31)  ４９÷(－７) 

 

(32)  (－２０)÷(－１０) 

 

(33) ５×(４＋５) 

 

(34) ２＋８÷２ 

 

(35) －１８÷３２－(－３) 

 

(36) (－２)３＋５×(－７) 

 

 



計算脳トレテスト④ 

 

(37) 
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(38)  
６

１５
＝   

 

(39)  
２

７
×５ 

 

(40)  ３×
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(41)  
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(42) 
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７
÷９ 

 

 

名 前             

 

(43) ２÷
３

７
 

 

(44) 
８

３
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４
 

 

(45) １０×(−
１

５
) 

 

(46) ６÷(−
２
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(48)  
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※約分してください 

※約分してください 



計算脳トレテスト① 

 

(１) １＋３＝４ 

   

(２) ７＋２＝９ 

   

(３) ６＋８＝１４ 

   

(４) ５－３＝２ 

   

(５) ８－２＝６ 

   

(６) １４－９＝５ 

   

 

名 前             

 

(７) ４６＋５７＝１０３ 

   

(８) ７６＋５８＝１３４ 

   

(９) １９６＋７３９＝９３５ 

   

(10) ４５－１８＝２７ 

   

(11) ４０－１６＝２４ 

   

(12) ４０８－２７９＝１２９ 

   

 



計算脳トレテスト② 

※わりきれないわり算は、あまりを出すこと 

(13) ６×９＝５４ 

   

(14) ４×８＝３２ 

   

(15) ２×１０＝２０ 

   

(16) ４÷２＝２ 

   

(17) １２÷３＝４ 

   

(18) ９０÷１０＝９ 

   

 

名 前             

 

(19) ４９×４＝１９６ 

   

(20) １４７×６＝８８２ 

   

(21) ５６×３８＝２１２８ 

 

(22) ８４÷６＝１４ 

 

(23) ７０÷９＝７あまり７ 

 

(24) ９１２÷３＝３０４ 

 

 



計算脳トレテスト③ 

 

(25) １－(－７)＝８ 

 

(26) ４－(－８)＝１２ 

 

(27) ７＋(－４)＝３ 

 

(28) －９＋(－６)＝－１５ 

 

(29)  (－７)×２＝－１４ 

 

(30)  (－６)×(－８)＝４８ 

 

 

名 前          

 

(31)  ４９÷(－７)＝－７ 

 

(32)  (－２０)÷(－１０)＝２ 

 

(33) ５×(４＋５)＝４５ 

 

(34) ２＋８÷２＝６ 

 

(35) －１８÷３２－(－３)＝１ 

 

(36) (－２)３＋５×(－７)＝－４３ 

 

 



計算脳トレテスト④ 

 

(37) 
４

１２
＝
１

３
 

 

(38)  
６

１５
＝
２

５
 

 

(39)  
２

７
×５＝

１０

７
 

 

(40)  ３×
５

６
＝
５

２
 

 

(41)  
８

９
×
３

１０
＝

４

１５
 

 

(42) 
２

７
÷９＝

２

６３
 

 

 

名 前          
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※約分してください 

※約分してください 


